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NEAL K 4 Fr B TOTAL ouT IN
@A RILBCC 80 40 [ 40
2[=" EF FE5&ECC 80 39 i 41
3|HE HF AEIGC 81 38 { 43
4|HEK E/F &> LHCC 82 41 ¢ 41
S5|[LEF Z=F =cc 82 41 © 41
6|’0%F CRAF HILECC 85 43 | 42
UEIESS EBAIEECC 86 44 | 42
8[HER #KTF E&CC 86 43 43
o|fEAR T #EFPIGR 87 44 | 43

10| NE BT E=RICC 87 42 i 45
11K 3FF FECC 87 42 i 45
R{CHE HE NFACC 88 46 1 42
13|18 A= =BEERGC 88 44 ¢ 44
14|K BE N\FHCC 89 45 i 44
15|=8 ZF LBEREGC 91 43 | 48
16|AIH 1L+ EDHEGC 92 48 | 44
17\71B& #EF BrCC 92 46 | 46
18| &Mk #liT HBEICC 93 46 : 47
194148 BF BrCC 93 44 | 49
20|#5A HiY FEECC 94 48 i 46
21|HH JEF =®CC 94 46 i 48
22|[EA 5hKE EEEGC 95 48 | 47
23| U EtE JEDEGC 95 42 ¢ 53
24|1t7 E=E E=RICC 926 51 | 45
25|81 BE FECC 96 49 i 47
26| T8 =@CC 9296 48 i 48
27| KF =R JEDEGC 97 50 | 47
28|F HETF EiECC 97 50 : 47
29|HIIl EFT EEFAHCC 99 50 ! 49
30| Ll BEZE #FEFMGR 99 50 | 49
31|FEE fiT LB face 103 | 50 : 53
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JIBAL K % iG] NET CHP | GROSS (OUT IN)
x[BAR L HILBCC 65 15 80 (40 40)
x*[BIR EHF RiE>3UHCC 70 12 82 (41 41)
1{ZH HE N\Fce 72 16 88 (46 42)
x|[LEF Z|®F BCC 72 10 82 (41 41)
2|HHE BT =/ICC 72 22 94 (46 48)
x|HE HBF AH)IIGC 74 7 81 (38 43)
3|#EAR =KL HEFAIGR 75 12 87 (44 43)
4|17THE HEF B%CC 75 17 92 (46 46)
S5|JAI¥F 2BRF HILBCC 75 10 85 (43 42)
6| KM JFF FECC 76 11 87 (42 45)
= Ri&CC 77 3 80 (39 41)
7|NE BT E=RICC 77 10 87 (42 45)
8|=8 FF LEERGC 79 12 91 (43 48)
o|lgiH #LF JEDEGC 80 12 92 (48 44)
10|fp K HAF FERCC 80 14 94 (48 46)
11|118R /KT Ei#CC 80 6 86 (43 43)
12| &= LBIECC 81 5 86 (44 42)
13| KF ZEHA# EOHGC 81 16 97 (50 47)
140K B3E N\FHRCC 81 8 89 (45 44)
15(#)11 AE 1= EEREGC 81 7 88 (44 44)
16[41%8 BF BrRCC 81 12 93 (44 49)
17|IUAR S48 JEDEGC 81 14 95 (42 53)
18|t F2 =/ICC 82 14 96 (48 48)
19|54k it BECC 82 11 93 (46 47)
20|H)II EFT =EBANCC 84 15 99 (50 49)
21|l BE3E #EFAIGR 86 13 99 (50 49)
22|dbfR EEE =®CC 87 9 96 (51 45)
23R BE £5CC 87 9 96 (49 47)
24|15 HBHEF Ri#ECC 87 10 97 (50 47)
25|[AR 5Lk LEBERGC 87 8 95 (48 47)
26|FaE fbT I BEfEce 88 15 |103 (50 53)
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